EAGRAROBREERT — 2 N— ABISH —F

20195113230 (£) 5EmE7H

LM oR2m B (RS)

[({EE] Hin

‘ [R1%] & ‘ [REBB] — | & (%) 18000 B

[~&%] 1% 7,000,000 ~ 27 :2,800,000H ~ 337 :1,800,000H

4 7% 11,100,000 5 7 :700,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= t 2 | AHREH 1:54.1 7-7-7-6 | 38.1| 83.9 | 7 552 | RPTEIE (ER)
11812 b/ 7770 * 55.0 ) oy | ) #RIH—zHN=—
:d=IKR7Ya—=b B:o—=JLy hIT— HE77—»4L
N o, 1S > AILEAT :55. —-13-12- . . MHEERX (EXR)
ol 1|1 | #AELLELE £ 2 2l 1 (555) 0 13-13-12-10| 37.6 | 76.0 | 10 (414) ;‘§Baaa,faa
LB/ vTe BTLEVRY—T YA 7805
N NRTTOITEN 4 2 | 0. ¥—=T1— 1:55.2 2-2-2-2 | 40.1| 75.6 | 1 520 | HHESE (RR)
31710 ENT > FHY 54.0 R o) [ TEnT
o4O BAGLTURT—2Z H—L— - T8>« T7— LERSE
i $ s 2 | EPR 1:55.4 4-3-3-3 | 40.1| 74.0 | 6 454 | SHE— (ER)
4|56 |NTT7—=7L—K 54.0 (1 1/4) (=) | TDeEsT
Z:d—IWR7Y2—-b BS99+ U—9U52R AL
- FHAA :55. -1-1- . . wiketd (EX)
5 3|71 2FUT o2 =5 1(525)8 1-1-1-1 |40.8| 71.3 | 8 (430) A(;*) B RE e oas
RU—FHIIYL Bax/EU-—X THIE4S
I3 o2 | KOEHE 1:55.9 4-3-4-5 |40.4| 70.1 | 12 | 486 |PAKREZE (ER)
6 2| I¥IxtEL—F 54.0 (3/4) (=) |FU=>2T%—F
LwT1XTa v I+ VT — B:ayIurAU—> ESlite
Y 2 | JIIEAHE 1:56.4 4-5-6-6 | 40.7 | 66.3 | 4 458 | BBE—% (ER)
715l 7| =arezB 50 g 5.0 & ) | W) FFeoh
RIAY>T75ya BivaNFTISEF Y+ H S
. . MEZE= . 77~ N8 (FR)
8 g|ZHITLITT ud 54.0 (75?:;5 TR 4041 652 3 (458) NARRT]
R:d—IK7Ya—)b B:3I R BREM#FB L2 L/ 77— L
55 3 4 2 | C. 233> 1:56.9 10-10-4-4 | 41.4| 63.2 | 2 1064 | AEBE (ER)
9f7[11|#7A/ERS 5.0 2 1/2) ) |HEEES
=W R7Va— B:TAIVRTTT— ellke
4 2 | BERMAETT 1:57.1 11-12-11-9 | 40.0 | 59.7 | 5 512 | FEE (RR)
10/8]13| 7171V 7T 55.0 (1 1/2) (o) |mEwHmEL
LNZ—ka1—X B:TAT7AH-XF F& SR A%
e o= 4 o2 | EPRE 2:00.4 7-9-9-10 |43.7| 41.3 | 9 468 | BEBER (RR)
1 4| INTFITZT 55.0 (%41 4%) (=) | EHER
LBALINT Ry IR Byl f =AM BB
S # o2 | BRBERA 2:02.3 11-11-9-10 | 45.5 | 32.6 | 11 | 430 |BEBEZA (BR)
12 9 A= 4 b— 55.0 (21 4) (—) AHEE (K
L:VENTA— BXXAH/Tz VD =9I =Ty —L
N # o2 | BEES 2:05.3 3-5-13-13 | 45.8 | 14.2 | 13 | 464 |RHET (EX)
13 5|&A/aAU%* 55.0 (214 %) (=) | VERRR
XL GARI N B2 H/Fr R NARB
@ 71 L
) 51.8-39.1
NO>24 L | 12.4-11.4-12.8-12.9-12.8-12.7-12.7-13.1-13.3
@ 1—F—@&BIEf
13=7r= (x3,10)5(2,7,6)-(4,12,8)-11-(9,13) =1
Pol=5r= (x3,10) (2,6) (5,7)-(12,8)4,11-9,13=1
G=57= (x3,10)6(2,11)7(12,8)-(4,9)-13-1=5
43—+ — (x3,10)6,11,2(7,12)-8-13(4,9,1)=5
[ RN
B OB 12 2,400 714K 1-12 7,240H e & 1-8 11,740 &R 1-10-12 59,470/
% B 12 520/ 10-12 1,610 | | B & 1-12 42,270 | | =& [ 12-1-10 432,790/
1 1,010 1-10 3,880M B H 12-1 80,060
10 170

ABRICOVTHRTEEERROODE, THEB LS,




